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, If doubling a number and adding 20 to the result gives the same answer as
: multiplying the number by 8 and taking away 4 from the product, the
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, What is the least number which when divided by the number@,ﬁ,/ W
: 10 and@eaves in each case a remainder 2|but when divided by 13
& 4

_leaves no remainder?
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The average weight of 15 students in a class increases @g when one of the
students @ is replaced by a new student. What is the weight (in kg) }

of the new ltlldent__/ |
U T H 15 BIEAT &1 4 a T4 1.5 Frenm ag sirar § 5= 40 e aw= arer l

U BTH &\ 7T BT TR AT 1341 ATaT §1 70 BT &1 aw (e o) = #2 |
T |1
i (1)645kg §
B o —+ IS¥YIS @skg. ||

Yo + 2§ 3)60kg. |
€25 ) @625 ke.
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[ @ @ then find the value of a""-l-b3-l-c3 3abc.
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@nd water in two vessels

mpeeﬂvely In what ratio, the liquids in both the vessels be mixed to-ot
new mixture in vessel C containing half milk and half water?
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11 By selling a bicycle for Rs. 2850, a shopkeeper gains 14%. If the profit
is reduced m then the selling price will be -
TIY ¥ WT3TheT Aaral 2850, Th TR @I 14% W EraT #1 Af 1w

8% e W BY e &, A fsea we g - ‘

(3)Rs. 2800 | l
(4) Rs. 3000

(1) Rs. ]
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A man spends 40% of his monthly salary on food and one-third of the remaining
on transport. If he saves Rs. 4500 per month, which is equal to half the balance

after spending on food and transport, his monthly salary is —
U STEHT Y W AT T 40% WIS 9T 3 areht @1 vah fagts uiaeT was
AT 81 AR T T, 4500 THATIETETE, W W R TREET WER s H A1g

T Y & TER ¢, IqHT WIS Ao 8 -

(1) Rs. 11250

(@

(3) Rs. 25000
(4) Rs. 45000
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) 13 A trader bought two horses for Rs. 19500. he sold one at a loss of 20% and

) the other at a profit of'15%. If the selling price of each horse is the same, the
their cost price are respectively.
o T 19500 TTX ¥ &Y W2 ) 9% 20% iiamnmwiuﬁmw
I 15% & T U, u&mﬁ#ﬁﬁﬁ{m t ﬁ:mﬁr
wf Combinad C-f LGN 00 “j

952195 | 9 /%L"’;PC “f 5 (1)Rs.10000 and Rs. 9500 |
= 100

S. (SRR AR (2) Rs. 11500 and Rs. 8000

’ij ﬁ; 3 "’?O 23 )xy (3) Rs. 12000 and Rs. 7500 ||

2o 135umit (4) Rs. 10500 and Rs. 9000
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W If the difference between the compound and simple interests on a certain sum of
' 14 money for 3 years at 5% per annum is Rs. 15.25 then the sum is.
af? 3 arer & 1y 5% uft ad i 2 & v P afdr o wewafy ok wmemor s
& e o1 AT 1525 ¥ AT TnT A ?

N

(1) Rs. 2000
(2) Rs. 1000
3) Rs. 1500
(4) Rs. 2500
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A can do a work in 12 days. When he had worked for 3 days. B joined him. If they }

complete the work in 3 more days, in how many das can B alone finish the work?
A, 12 21 o v i R wwar 3 v Iaw 3 RasmFrardt o, frpIsa@ e ® |
weaT ¥ afd & = =t 3 otk RAT ¥ v e &, At B arder e Rt § el g l

a&Hare? |

| |

(1) 6 days
(2) 12 days
(3) 4 day
(4) 8 days




[ A thief is noticed by a policeman from a distance of 200 m. The thief starts running and

16 the policeman chases him. The thief and the policeman run at the rate of 10 km/hr and
11km /hr respectively. What is the distance between then after 6 minutes?
200 ¥ Y T A T YieraawHi gRT T 9 HY SWT AT 81 W AR T0ar § HAR Qe
T IwenT et e 1 W ok feraendt s 10 Rt/ der oik 11 feft/ der fr @ 1
wor 1 6 e & e e gl T

(1) 100 m
(2) 190 m
(3) 200 m
(4)150 m
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In a circle of radius 17 cm, two parallel chords of length 30 cm and 16 cm are drawn.
If both the chords are on the same side of the center, then the distance between }

chords is : |
frar 17 9t & v ww #, 30 AT AR 16 [t Y ard & S At sare Rasft st I

# o Pt oftar FxF e o §, @ Sfar Fdfradrghd: |

| |

(1)9 cm
(3) 23 cm
(4) 11 cm




21 The value of tan 1°. tan 2°
/| . tan3°,
imehrs | tand’........ tan 87°. tan88°. tan89°is

@ 1/V3

2)V3
3)1
(4) undefined




If sec O + tan 0 = /3, then the positive value of sin O is
A A &N 2




I 2316(x+2) = 4, then ol i
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Find the value of [11. |11.,/11.4/11.v11




, i 26 Corresponding altitudes of two similar triangles are S cm and 7 cm. Find the
ratio of their areas.

o awew Ber Rt 99T 5 cm 3R 7 cm ¥ Gowet 3 st W ?

(1)V5:V7
(2)5:7
3)10: 14




1 27 The difference between C. I (compound Interest ) and

S.I ( simple Interest) on a sum of Rs 4000 for 2 years
at 5% p.a payable yearly is
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F 28 A reduction of 20% in the price of sugar enables me to purchase me
to purchase Skg more for Rs 600. Find the price of sugar per kg

before reduction of price.
St Y T & 20% hr FHE F 600 TUA W 5 fhent siR @l *

e e groma #1 dFrwa ¥ it & e wf feet o @ Ie
w2

(1) 24 Rs
(2) 30 Rs
(3) 32 Rs
(4) 36 Rs
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5 29 A sells a bicycle to B at a profit of 20%. B sells it to C at a profit of
25%. It C pays Rs 225/- for it, the cost price of the bicycle for A is :
A20% FATH I B & U AEfhet aTar 2. B3R 25% FATW I C
I AT 8. 38® Y. C 225/- 5T 1 YA AT 8, A & g
Az & arTa e €

(1) 110 Rs
(2) 125Rs
(3) 120RS
(4) 150 RS
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